

F.3 Q15 Since
$$f$$
 is containants on \mathbb{R} , Fundamental Three
of Calculus implies $h(x)=\int_{-\infty}^{\infty} f(t)dt$ is differentiable
on \mathbb{R} and $h'(x) = f(x)$, $\forall x \in \mathbb{R}$.
By Chain rule, $h(x+c)$ and $h(x-c)$ are

also differentiable on IR. Hence

 $Q(x) = \int_{x+c}^{x+c} f = \int_{x+c}^{x+c} f - \int_{x-c}^{x-c} f = f_{x+c}(x+c) - f_{x-c}(x-c)$

differentiable on R, and

$$g'(x) = fi'(x+c) - fi'(x-c) = f(x+c) - f(x-c)$$

$$f(x+c) - fi'(x+c) = f(x+c) - f(x-c)$$

$$f(x+c) - f(x+c) = f(x+c) - f(x-c)$$

$$f(x) = f(x+c) = f(x+c) = f(x+c) + f(x+c) = f(x)$$

$$f(x) = f(x) = f(x) - f(x) + f(x+c) = f(x)$$

$$f(x) = f(x) - f(x) + f(x+c) = f(x)$$

$$f(x) = f(x) = f(x) + f(x+c) = f(x)$$

$$f(x) = f(x) = f(x) + f(x+c) = f(x)$$

$$f(x) = f(x) = f(x) + f(x+c) = f(x)$$

$$f(x) = f(x) = f(x) + f(x+c) = f(x)$$

$$f(x) = f(x) = f(x) + f(x+c) = f(x)$$

$$f(x) = f(x) = f(x) + f(x+c) = f(x)$$

$$f(x) = f(x) + f(x+c) = f(x) + f(x+c) = f(x)$$

$$f(x) = f(x) = f(x) + f(x+c) = f(x)$$

$$f(x) = f(x) + f(x+c) = f(x) + f(x+c) = f(x)$$

$$f(x) = f(x) + f(x+c) = f(x) + f(x+c) = f(x)$$

$$f(x) = f(x) + f(x+c) = f(x) + f(x+c) = f(x)$$

$$f(x) = f(x) + f(x+c) = f(x) + f(x+c) = f(x)$$

$$f(x) = f(x) + f(x) + f(x+c) = f(x)$$

$$f(x) = f(x) + f(x) + f(x+c) = f(x)$$

$$f(x) = f(x) + f(x) + f(x)$$

$$f(x) = f(x) + f(x) + f(x)$$

= Dirichlet function which is not Riemann integrable. 7.4Q7 (a) 48>0, let $\varphi_{\mathcal{G}} = \left(0, \frac{1}{2}, \frac{1}{2} + \xi, 1\right)$ Then $U(q, P_{\varepsilon}) = 0 \cdot \frac{1}{2} + 1 \cdot (\frac{1}{2} + \varepsilon) + 1 \cdot (1 - (\frac{1}{2} + \varepsilon))$ $=\frac{1}{7}$ and $L(g, P_{\varepsilon}) = 0.\frac{1}{2} + 0.(\frac{1}{2} + \varepsilon - \frac{1}{2}) + 1.(1 - (\frac{1}{2} + \varepsilon))$ $=\frac{1}{2}-\xi$ Hence $\frac{1}{2} - \varepsilon = \lfloor (g, P_{\varepsilon}) \leq \lfloor (g) \leq \cup (g) \leq \cup (g, P_{\varepsilon}) = \frac{1}{2}$ Since E>O is arbitrary, we have $L(q) = \bigcup(g) = \frac{1}{2}$ (b) Sure g is integrable (both Riennann & Darboux), changing value at one point is still integrable and with the same integral $\int_{a}^{3} g = L(g) = U(g) = \frac{1}{2}$ X

74.Q9 Since fa any subititated
$$[\overline{x}_{i-1}, \overline{x}_{i}]$$
 an $[a_{i}b_{i}]$
 $\overline{u}_{i}f_{j}(x) \leq f_{i}(x)$
 $\overline{u}_{i}e_{i}, \overline{x}_{i}]$ ($\forall x \in [\overline{x}_{i+1}, \overline{x}_{i}]$)
 $a_{u}d$ $\overline{u}_{i}f_{j}f_{i}(x) \leq f_{i}(x)$
 $\overline{u}_{i}e_{i}, \overline{x}_{i}]$
 \Rightarrow $\overline{u}_{i}f_{j}f_{i}(x) + \overline{u}_{i}f_{j}f_{i}(x) \leq f_{i}(x) + f_{z}(x)$, $\forall x \in [\overline{x}_{i-1}, \overline{x}_{i}]$
 \Rightarrow $\overline{u}_{i}f_{j}f_{i}(x) + \overline{u}_{i}f_{j}f_{i}(x) \leq \overline{u}_{i}f_{i}[f_{i}(x) + f_{z}(x)]$
 \Rightarrow $\overline{u}_{i}f_{j}f_{i}(x) + \overline{u}_{i}f_{j}f_{i}(x) \leq \overline{u}_{i}f_{i}[f_{i}(x) + f_{z}(x)]$
 \Rightarrow $\overline{u}_{i}f_{j}f_{i}(x) + \overline{u}_{i}f_{j}f_{i}(x) \leq \overline{u}_{i}f_{i}[f_{i}(x) + f_{z}(x)]$
Therefore, \forall partition P of $[a_{i}, b_{i}]$,
 $L(f_{i}, P) = \sum_{i=1}^{n} (\overline{u}_{i}f_{i}f_{i}(x)) \cdot (x_{i} - x_{i-1})$
 $L(f_{z}; P) = \sum_{i=1}^{n} (\overline{u}_{i}f_{i}f_{i}(x)) \cdot (x_{i} - x_{i-1})$
 $= L(f_{i}, f_{z}, P) \leq \sum_{i=1}^{n} (\overline{u}_{i}f_{i}f_{i}(x)) \cdot (x_{i} - x_{i-1})$
 $= L(f_{i}, f_{z}, P) = (L(f_{z}, P)) \leq \sum_{i=1}^{n} (\overline{u}_{i}f_{i}f_{i}(x) + f_{z}(x))) (x_{i} - x_{i-1})$
 $= L(f_{i}, f_{z}) = (L(f_{i}, f_{z}) - (f_{z}))$
 $= L(f_{i}, f_{z}) = (L(f_{i}, f_{z}) - (f_{z}))$
 $= L(f_{i}, f_{z}) = (f_{z})$
 $= L(f_{i}, f_{z}) = (f_{z})$
 $= L(f_{i}, f_{z}) = (f_{z})$
 $= L(f_{i}, f_{z}) = (f_{z}) + \varepsilon$
 $a_{i}d \exists P_{z} s f_{i} = L(f_{z}) < L(f_{z}, P_{z}) + \varepsilon$
 $Let P = P_{i} \cup P_{z}$ be the common vefore mout of $P_{i} \ge P_{z}$.

